Hausaufgaben 15.3.2013

VKA/B/D/E

Losungen:
1 Bitte berechnen Sie die Unbekannten
a)
- 6,4m - 6,9w + 6,4F = 78,3
- 7,8m - 7,8w + 3,5F = 50,6
- 7,1m - 4,1w + 8,3F = 88,2
L:
m=1;
w = -3;
f =10
b)
- 4,6q - 5,49 - 8,7n = -40,72
- 7,59 - 3,2g - 5n = -33,45
- 5,79 - 9,89 - 4,7n = -86,61
L:
q=1,9;
g = 8,5;
n = _11 ;

2 Bitte berechnen Sie die Unbekannte
a) -9°-¥9g-¢=0 L
by >d?*+ Fd-5$5 =0 L

c) -86,4m + 215,28 = -8m?
d) 3x*=42x-136,17

-3 _ _-6 _ _5 .
f) —2p-2 - -A4p+l T T4 L:
3d+2 3d+8 _ 58 .
9) 4diz t T4z T 15 L

_ 1 _ 5
91= -2, 02= -3
dl:%a d,= 431

[L:m;=3,9; m;=6,9;
|L:x, =5,1; % =8,9;

o) t2-(—2t+2)+%t2= 222 (t+2)+E L ty=-1 ;=2

pi=1; p.=-%

d1:'8;d2:178

3 Bitte berechnen Sie die Unbekannten

2 8 .7 _ 113
at7vtT =76

_ 2 _ 1 9 _ _19
54 6v 2r — 8
3 ., .9 |, 2 _ _667
“4q T av Y or T T 144

L:

a=3;

_ _4.

V= -2

_ 2.

I’—5,
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4 Bitte berechnen Sie die Unbekannten
a)
—4a - p+ 3r= 377
- a+ %p + 51 = —%
L:
a=-2;
p=-2;
r= —%;
b)
7,2(-6,1i + 4,1c) + 2,9(-6,5i - 3,2) - 2 = 4,635
3(7,3i + 5,1c) + 9,5(-5,6i - 5¢) - 4,7 = -238,23
L:
i=1,7;
c=5,6;
5 Bitte berechnen Sie die Unbekannten

- 2,4w + 6,3k = -3,99
- 6c + 9,7k = 20,71
4,9w - 5¢c = 17,28

L:

w = -2,8

c = -6,2

k = -1,7
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